
 

Duncombe Sawmill Ltd 
May 2020 

 

 

How to Assemble an A Frame Picnic Table 

 

 

Kit to include: 

 

2 x A frame legs 

2 x seat sections 

1 x top 

2 x diagonal sections 

12 x 100mm bolts 

12 x nuts and washers 

12 x black nut caps 

8 x 50mm wood screws 

 

 

Tools required: 

 

Hammer to tap bolts through 

Pozzi 2 screw driver for the wood screws 

13mm spanner to tighten nuts 

 

  



 

Duncombe Sawmill Ltd 
May 2020 

Step one: 

 

Bolt together one of the A frame legs to one of the seat sections using 2 x 100mm bolts.  Add the washer and nut. 

Do not fully tighten any of the nuts until all sections of the table have been put together. 

Step two: 

 

Fix the second A frame leg to the other end of the seat section you have just fitted using 2 x 100mm bolts, washers and nuts. 

Step three: 

 

Fix the picnic table top to the legs using 4 x 100mm bolts, washers and nuts. 

Step four: 

 

Fix the 2 diagonal pieces to the underside of the table top and to the A frame leg on each side using the 50mm wood screws.         

NB. There are two pencil marks on the inside of the A frame to help guide placing. 



 

Duncombe Sawmill Ltd 
May 2020 

 

 

Step five: 

 

Fix the second seat section using the remaining bolts, nuts and washers.  Now that the table is fully assembled, fully tighten all the 

bolts and nuts. 

Step six: 

 

 

Press the black caps onto the nuts. 

 

Your table is now assembled.  Enjoy using it! 


